

$$\sqrt{n^3 \left(\left(\frac{1}{n} \right)^{n-1} - 1 \right)} \geq 0 \Rightarrow$$

$$D_f = [0, 1]$$

	0	1
$\left(\frac{1}{n} \right)^{n-1} - 1$	-	+
	+	+
	-	-

$$n + |n+2| \geq 0 \quad |n+2| \geq -n \xRightarrow{\text{باید}} n \geq -1$$

$$\Rightarrow D_{f(n)} = [-1, +\infty) \Rightarrow D_{f(-n)} \Rightarrow -n \geq -1$$

$$\Rightarrow n \leq 1 \Rightarrow D_{f(-n)} = (-\infty, 1]$$

$$\frac{n-1}{f(n)} \geq 0 \Rightarrow$$

$$D_f = [-1, 3]$$

$$D_g = [-2, 1] \cup (2, 3)$$

	-1	-2	1	2	3
$n-1$	-	-	-	+	+
$f(n)$	+	+	-	-	+
	+	+	-	-	+

با دانه $\frac{1}{m^2+am+b}$

$$\frac{(m^2+m+1)(m^2-n-2)}{m^2+am+b} \Rightarrow \frac{m^2+am+b}{m^2-n-2}$$

$a = -1 \quad b = -2 \quad \sqrt{-(-1-2)} = 2$

$$\sqrt{m^2+m-\frac{4}{m^2}-\frac{4}{m}} = \sqrt{\frac{(m^2-4)(m^2+5m+4)}{m^2}} \Rightarrow$$

-2	0	2
-	+	-
+	+	+

$$D_g = [-2, 0) \cup (2, +\infty)$$

$$f(x) \Rightarrow x=1 \quad x-1=1=f(x) \quad f(10) \Rightarrow 10-1=9=f(10)$$

$$f(x)+f(10)=1+9=10$$

$$g(x) = (x+2)^2 - 2x \quad f(x) = (x-2)^2 + 1$$

$$g(\sqrt{2}-2) = -20 \quad f(\sqrt{2}+2) = 10 \quad \frac{g(\sqrt{2}-2)}{f(\sqrt{2}+2)} = -2$$

$$g(x) = \sqrt{x-2-2\sqrt{x-2}+2} = \sqrt{(\sqrt{x-2}-2)^2} = |\sqrt{x-2}-2|$$

$$f(x) = \sqrt{x-2+2\sqrt{x-2}+2} = \sqrt{(\sqrt{x-2}+2)^2} = \sqrt{x-2}+2$$

$$g(x)+f(x) = |\sqrt{x-2}-2| + \sqrt{x-2}+2 \quad x \geq 4$$

$$\frac{a+b}{c} = \frac{0+2}{-2} = -1 \quad \left[\begin{array}{l} a=0 \quad b=2 \quad c=-2 \\ \sqrt{x-2} = a+b\sqrt{x}+c \end{array} \right]$$

$$D_f = \mathbb{R} - \{2, 1\}$$

$$f(x) \neq 0 \quad x \neq -2$$

$$\frac{g}{f} = \left\{ \left(2, -\frac{1}{2} \right), (1, 0), (0, 2) \right\}$$

$$1) f(x) = \left\{ \left(\frac{1}{2}, 2 \right), \left(\frac{3}{2}, -1 \right), (2, 2), \left(-\frac{1}{2}, 4 \right) \right\}$$

$$2) f(x) = \left\{ (1, 2), (-1, 2), (\sqrt{2}, -1), (-\sqrt{2}, -1), (\pm 2, 2), (-2, 2) \right\}$$

$$3) 2g(x)+1 = \left\{ (-2, 1), (1, 2), (2, 4), (-1, 1) \right\}$$

$$4) \frac{2f}{g} = \left\{ (1, -2), (2, -1) \right\}$$

جواب